ALL ANSWERS MUST BE GIVEN ON THE COMPUTERIZED ANSWER SHEET
BY CROSSING THE CORRESPONDING LETTER

English M.C.Qs

No. of Questions: 30 (from 1 to 30) Time: 35 Minutes
Questions on Page Numbers: 1 To 5 Negative Markings: No

For questions 1-5, choose the sentence that contains a misspelled word. If there are no mistakes,
choose answer D.

We were disatisfied with the results of the experiment.
Our office has a plentiful supply of staples.

Stringent controls were placed on the county’s budget.
no mistakes

oOw -

Curt will probibly stay home tonight.

The coach praised the team for last night’s game.
It was a relief to learn that Brad had arrived safely.
no mistakes

SESEEN

The speaker presented an idea that was foreign to us.

Marcus spoke directly to the governor.

The boys and girls in the musical gave a stunning perfotmance.
no mistakes

SOowEw

William is the most sensable person | kiiow.

The festival is held at a different time eveny year.

It is customary for the members t@ atrive fashionably late.
no mistakes

SRSl

Her father is a captin in théydavy.
The weather here ghanges frequently.
We adopted a new policy.

no mistakes

SRSl

For Questions 62112, select the best option.
6. I saw an interesting advert in the newspaper and decided to the job.
A. lookHfor
B, g6t
€. “apply for
D¢ grab

7. The company missed his wealth of experience when he chose an early retirement.
to take

for

taking

preferred

cSaw»
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8. The whole union strike in sympathy with the sacked workers.
called on a

decided for

wanted

went on

Cowp

9. Extra skills training could your job prospects.

A. improve
B. enhance
C. increase
D. liven up 0

10. She felt that she wasn’t her full potential in her current job.
A. using
B. managing
C. getting 0
D. utilizing
11. The company had no choice but to her contract when 5056(1 several

important deadlines.

A. terminate
B. end 0
C. renew

D. revisit

12. The failure of the business left him & in.
A. witha
B. ina ‘

C. beara

D. fora ‘
For Questions 13 — 20, select the best a r

13. Although the freeway syst ‘ues to grow, it often cannot keep pace with a
population.
A. burgeoning O

B. beckoning
C. capitulating &
D. exasperating
14. She had ionasa hostess and could always be found in the midst of a group
tellin orous story or joke.
A. jovial

D.t
nderstanding the troubling world economic conditions, the recent graduates spoke
about job prospects for the future.
A. warily
B. luxuriously
C. coyly
D. narrowly

B. maudli
C. preE
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16. The of sunshine and warm weather were the perfect combination for a vacation by
the seashore.
A. assumption
. confluence
. seclusion
. treatise

oCow

17. After the of his license, he was forbidden to drive.
. institution
. foundation
. revocation
. preservation
18. Allan placed the bill in the wrong folder, and it was not paid in a timely“manner,
which adversely affected his credit rating, causing distress.
. purposely
. inadvertently
. voluntarily
. deliberately
19. Do not yourself; you must pass the last exam of the seéméster to graduate.
. delude
. depreciate
. relinquish
. prohibit
20. Although Hunter was too to revealdnformation to us when we first met him, he
soon began to talk more than anyone.
A. customary
B. reticent
C. animated
D. conceited

OO wp

> TOwp

ocow

For questions 21- 24, select the best option.

21. Wind resistance creatédhby opening windows while driving results in a fuel penalty as great or
greater than is inglitred by using air conditioning.

as gredt of greater than is incurred by using air conditioning
thatfis agygreat or greater than is incurred using air conditioning
asigreab as or greater than that of using air conditioning

at least as great as that incurred by using air conditioning

oCOwp

22, Afythe time of the Mexican agrarian revolution, the most radical faction, that of Zapata and his
followers, proposed a return to communal ownership of land. to what had been a pre-
Columbian form of ownership respected by the Spaniards.

A. land, to what had been a pre-Columbian form of ownership respected by the Spaniards
B. land, a form of ownership of the pre-Columbians and respected by the Spaniards

C. land, respected by the Spaniards and a pre-Columbian form of ownership

D. land in which a pre-Columbian form of ownership was respected by the Spaniards
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23. Some of the tenth-century stave churches of Norway are still standing., demonstrating that with
sound design and maintenance, wooden buildings can last indefinitely.

A. standing, demonstrating that with sound design and maintenance, wooden buildings can
last indefinitely

B. standing, demonstrating how wooden buildings, when they have sound design and
maintenance, can last indefinitely

C. standing; they demonstrate if a wooden building has sound design and maintenance it ¢én
last indefinitely

D. standing, and they demonstrate wooden buildings can last indefinitely when theredis
sound design and maintenance

24. In the United States, trade unions encountered far more intense opposition against their
struggle for social legitimacy than the organized labor movements of most gthesdémocratic
nations.

against their struggle for social legitimacy than
in their struggle for social legitimacy than did
against their struggle for social legitimacy as
in their struggle for social legi

Sowp

For questions 25- 27, select the best option.

25. No national productivity measures are available fornderground industries that may exist but
remain unreported. On the other hand, at leastgsome,industries that are run entirely by self-
employed industrialists are included in natighalproductivity measures.

From the information given above, it cari'be validly concluded that

A. there are at least some industriesfrun entirely by self-employed industrialists that are
underground industries

B. no industries that are run edtitely by self-employed industrialists operate underground

C. there are at least some industries other than those run entirely by self-employed
industrialists that are indefground industries

D. there are at least sgfne Wdustries run entirely by self-employed industrialists that are not
underground industries

26. Lou observes thatififlight 409 is canceled, then the manager could not possibly arrive in time
for the meeting. ‘But the flight was not canceled. Therefore, Lou concludes, the manager will
certainlygbe'Ondime. Evelyn replies that even if Lou's premises are true, his argument is
fallacigmss And therefore, she adds, the manager will not arrive on time after all.

Whigh,of the following is the strongest thing that we can properly say about this discussion?
A./ Evelyn is mistaken in thinking Lou's argument to be fallacious, and so her own
conclusion is unwarranted.
B. Evelyn is right about Lou's argument, but nevertheless her own conclusion is
unwarranted.
C. Since Evelyn is right about Lou's argument, her own conclusion is well supported.
D. Since Evelyn is mistaken about Lou's argument, her own conclusion must be false.
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27. Sally has never received a violation from the Federal Aviation Administration during her 16-
year flying career. Sally must be a great pilot.

Which of the following can be said about the reasoning above?
A. The definitions of the terms create ambiguity.
B. The argument uses circular reasoning.
C. The argument works by analogy.
D. The argument is built upon hidden assumptions.

For questions 28-30, select the best options (A, B, C or D).
A clear answer to whether the languages of the ancient American peoples were made use of for exfifessihg
abstract universal concepts can be sought in the case of Nahuatl, which like Greek and &Gesman, is
a language that allows the formation of extensive compounds. By combining radicalg, ot \sémantic
elements, single compound words can express complex conceptual relations, often of anabstraet universal
character. The tlamatinime ("those who know") were able to use this rich stock of abstdactterms to express

the nuances of their thought. They also availed themselves of other forms of expres§ion With metaphorical

meaning, some probably original, some derived from Toltec coinages. @f“these” forms the most
characteristic in Nahuatl is the juxtaposition of two words that, because theytate/synonyms, associated
terms, or even contraries, complement each other to evoke one single ideal Theyjuxtaposed terms, used as
metaphor, suggest specific or essential traits of the being they refer to,amtrodu€ing a mode of poetry as an
almost habitual form of expression.

28. According to the passage, some abstract universalideas can be expressed in Nahuatl by
A. Putting various meaningful elements together‘ih one word
B. Taking away from a word any reference go pasticular instances
C. Turning each word of a phrase into a goetiéimetaphor
D. Giving a word a new and opposite ieaning

29. It can be inferred solely from thefinformation in the passage that
A. Metaphors are always usedfimiNahuatl to express abstract conceptual relationships
B. There are many languages that, like Greek or German, allow extensive compounding
C. The abstract terms of{the Nahuatl language are habitually used in poetry
D. Some record or eyideneeot the though of the tlamatinime exists

30. A main purpose®f the passage is to

Argue agdinstia theory of poetic expression by citing evidence about the Nahuatl
Delineétethe function of the tlamatinime in Nahuatl society

Exploreithe rich metaphorical heritage the Nahuatl received from the toltecs
Peseribe some conceptual and aesthetic resources of the Nahuatl language

Sowp

If you finish before time is called, you may check your work on this section only.

This is the end of English MCQs. Next section is General Knowledge MCQs.
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General Knowledge M.C.Qs

No. of Questions: 30 (from 31 to 60) Time: 20 Minutes
Questions on Page Numbers: 6 To 9 Negative Markings: No

31. Who is current director general of ISPR?
A) Major General Asif Ghafoor

B) General Qamar Bajwa
C) General Raheel Shareef

D) Lt General Asim Munir é

32. Who is the current Chief Minister of Sindh?

A) Fazal-ur-Rehman

B) Syed Qaim Ali Shah

C) Syed Murad Ali Shah 0
D) Justice (Rtd.) Zahid Kurban Alavi 0

33. What is 10 downing street?

A) UK President house

B) UK Prime Minister house o

C) House of Finance Minister UK

D) House of Finance Minister of France

34. Urdu was declared national language of Pakist \
A) April 1950

B) April 1955 &

C) April 1954

D) April 1952 4

35. Word Urdu means:

A) Believers O l

B) A group of students
C) Army O

D) A group of citiz&
36. ————— esumes flights to Pakistan in June,2019 after 10 years:

D
;!0 is the current Chairman Federal Board of Revenue (FBR)?
Syed Muhammmad Shabbar Zaidi
B) Mohammad Jehanzeb Khan
C) Rukhsana Yasmin
D) Tarig Mahmood Pasha
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38. Who is the current Governor State Bank of Pakistan?
A) Syed Muhammmad Shabbar Zaidi

B) Mohammad Jehanzeb Khan

C) Ishrat Husain

D) Reza Bagqir

39. Who is the current Director General of Inter-Services Intelligence (ISI)?

A) Lt General Faiz Hameed

B) Maj General Asif Ghafoor

C) Lt General Asim Munir

D) General Qamar Bajwa 0
40. Which country to help Pakistan introduce genetically-engineered corn?

A) China

B) United States 0
C) United Kingdom

D) Turkey 0

41. The 15th G20 summit will be held in: 00

A) Riyadh, Saudi Arabia

B) Buenos Aires, Argentina

C) Osaka, Japan 9
D) Mumbai, India

42. Acre is the unit of Area. One Acre is saxg .

A) 1000 square yard

B) 4880 square yard

() 2400 square yard 4

D) 1200 square yard g

43. Which country will host ez Asian Cup confirmed by Asian Football Confederation?
A) Japan

B) India O

C) China

D) Nepal &

44. Which anned the single-use plastics from 20217
A) Can;
B) Unite tes of America
C d Kingdom
e

. All of the following disease are caused by viruses, except
A) Jaundice
B) Influenza
C) Typhoid
D) Mumps
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46. Retina in the eye acts as a
A) Lens in the camera

B) Shutter in the camera

C) Film in the camera

D) zooming in the camera

47. Which Surah starts without Bismillah?

A) Al-Baqara

B) Al-Ikhlas

C) Al-Fatiha

D) Al-Toba 0

48. Hazrat Muhammad (PBUH) was born about three thousands years, after: Q

A) Hazrat Moosa (A.S)

B) Hazrat Eessaa (A.S) 0
C) Hazrat Ibrahim (A.S)

D) Hazrat Nooh (A.S) 0

A) microprocessor

B) memory

C) peripheral equipment 9
D) all of the above \

50. Hitler party which came into power in w&%vn as

49. A complete microcomputer system consist of 00

A) Labour Party

B) Nazi Party

C) Ku-Klux-Klan 4

D) Democratic Party g

51. First human heart tran@ peration conducted by Dr. Christiaan Barnard on Louis
Washkansky, was condu

A) 1967 0

B) 1968
C) 1952
D) 1992 O

52. Gali an [talian astronomer who
A) developed the telescope
B vered four satellites of Jupiter

vered that the movement of pendulum produces a regular time measurement
11 of the above

53. First China War was fought between
A) China and Britain

B) China and France

C) China and Egypt

D) China and Greek
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54. Three countries Georgia, Uzbekistan and Turkmenistan became the members of UNO in
A) 1991
B) 1992
C) 1993
D) 1994

55. During World War 11, when did Germany attack France?

A) 1940
B) 1941
C) 1942
D) 1943 0

56. The ozone layer restricts
A) Visible light :

B) Infrared radiation

C) Ultraviolet radiation

D) X-rays and gamma rays

57. How many countries are there in the continent Asia? O

A) 50 o

B) 75

C) 55 9

D) 52 \

58. During World War I Germany was defe he Battle of Verdun on the western front and
Romania declared war on the eastern front 1 year

A) 1914
B) 1915 4
C) 1916

D) 1917 Q

59. What is the highest s in kilo metre per hour for cars at motor ways in Pakistan?
A) 100

B) 120
C) 110 &
O

60. He s of UNO are situated at
A) New , USA
B e (Netherlands)
va
aris

If you finish before time is called, you may check your work on this section only.

This is the end of General Knowledge MCQs. Next is Essay Section.
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ESSAY QUESTION MUST BE ATTEMPTED ON ESSAY SCRIPT

Essay Question Time: 35 Minutes

Note: Please attempt essay question on Essay Script given separately using pen.

Writing Task

Many people feel that the use of surveillance cameras 1in public places, such as parking lots.4s a
o00d 1dea that can help ensure our safety. Others worry that too many cameras violate our right to
privacy and give law enforcement officials too much power. In your opinion, should ave mstall

more survelllance cameras 1n public places? Why or why not?

Support your position with specific reasons and examples.

THE END

(You cannot go back to English and GK Sections)
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